
 

Page 1 of 3    

 

FIESTA R2 INTERNAL GEARBOX PRICING - RETAIL 
 
 

 
 
 

 
 
 
 

This price list makes up all the parts within the Fiesta R2 gearbox.  

 
Part number Description 

Quantity 
per car 

Price Unit 

BR12000001A GEARBOX ASSEMBLY 1 £ 4,504.50 Each 

     

 GEARBOX TOOLS    

BR12020001A PRELOAD TOOL (FOUT1705001) 1 £ 93.06 Each 

BR12020002A PRIMARY/SECONDARY TOOL (FOUT9003276) 1 £ 98.11 Each 

BR12025022A FIX PRELOAD TOOL (FOUT1705002) 1 £ 93.06 Each 

     

 PRIMARY GEARTRAIN    

BR12021011A NJ205 BEARING (0103001) 1 £ 27.13 Each 

BR12021001A 1-2 INPUT SHAFT (K75170501546J6JMS) 1 £ 691.00 Each 

BR12021005A PINION SPACER (F9019104MS) 2 £ 14.20 Each 

BR12021002A 3RD GEAR RATIO SET (CSTC1728546JMS) 1 £ 166.68 Each 

BR12021003A 4TH GEAR RATIO SET (CSTC2027546JMS) 1 £ 166.68 Each 

BR12021004A 5TH GEAR RATIO SET (CSTC2124546JMS) 1 £ 166.68 Each 

BR12021006A BEARING INNER RACE (F1705107MS) 1 £ 38.38 Each 

BR12021007A EC BEARING (0103012) 1 £ 57.35 Each 

BR12021008A PRIMARY SHAFT NUT (F1705105) 1 £ 33.06 Each 

BR12021009A NUT STOPPING WASHER (F1705106) 1 £ 29.16 Each 

BR12021010A 022 CIRCLIP (0601018) 1 £ 0.37 Each 

     

 SECONDARY GEARTRAIN    

BR12021007A EC BEARING (0103012) 1 £ 57.35 Each 

BR12022001A 12X57 FINAL DRIVE (CPL12571705011MS) 1 £ 959.79 Each 

BR12022012A 027 CIRCLIP (0601004) 1 £ 0.61 Each 

BR12022013A NUT STOP WASHER (F1705202) 1 £ 28.23 Each 

BR12022016A SECONDRY GEARTRAIN NUT (F9007808) 1 £ 42.94 Each 

BR12022017A BEARING NJ2206 (0103018) 1 £ 41.48 Each 

BR12022010A BEARING INNER RACE (F1705203) 1 £ 51.71 Each 

BR12021004A 5TH GEAR RATIO SET (CSTC2124546JMS) 1 £ 166.68 Each 

BN12040018A DOG RING (F0085004) 3 £ 81.26 Each 

BN12040049A K38x43x17 BEARING (0105043) 6 £ 16.84 Each 

BR12022007A DOG RING HUB (F1705204) 3 £ 91.74 Each 

BR12021003A 4TH GEAR RATIO SET (CSTC2027546JMS) 1 £ 166.68 Each 

BR12021002A 3RD GEAR RATIO SET (CSTC1728546JMS) 1 £ 166.68 Each 

BR12022003A 2ND GEAR PINION (F1705206MS) 1 £ 137.66 Each 

BR12022002A 1ST GEAR PINION (F1705205MS) 1 £ 137.66 Each 

BR12022008A REVERSE GEAR PINION (F9019209MS) 1 £ 101.16 Each 

BR12022014A BRONZE WASHER (F9019204) 1 £ 11.53 Each 

BR12022015A STEEL WASHER (F9019203MS) 1 £ 15.91 Each 

     



 

Page 2 of 3    

 

FIESTA R2 INTERNAL GEARBOX PRICING - RETAIL 
 
 

 

Part number Description 
Quantity 
per car 

Price Unit 

GEAR SELECTOR 

BR12023005A M7X20 CHC BOLT (0301302) 6 £ 1.12 Each 

CN210 M4x10 SOCKET CAP SCREW 2 £ 0.06 Each 

BR22010009A GEAR POSITION SENSOR LOOM 1 £ 205.24 Each 

BR12023009A POTENTIOMETER PLATE (F1705403) 1 £ 38.89 Each 

BR12023010A 045X62X8 LIP SEAL (0205022) 1 £ 2.10 Each 

BR12023011A 62603 2RS BEARING (0101022) 1 £ 7.76 Each 

BR12023001A SELECTOR RAIL BARREL (F1705400MS) 1 £ 423.56 Each 

BR12023002A INDEXOR (F9019504) 1 £ 15.02 Each 

BR12023003A INDEXOR SPRING (0801046) 1 £ 6.55 Each 

BR12023004A INDEXOR CAP (F9019503) 1 £ 7.90 Each 

BR12023006A POWER SHIFT SHIM (F0062011-1) 1 £ 2.77 Each 

BR12023007A REVERSE GEAR SENSOR (5099017) 1 £ 23.64 Each 

BR22010003A REV CUT CONNECTOR 1 £ 2.03 Each 

BR12023017A POWER SHIFT (F0077119K) 1 £ 35.67 Each 

BR12023018A POWER SHIFT SHIM SET (F0062011) 1 £ 13.02 Each 

BR12023019A M5X20 CHC BOLT (0301236) 4 £ 0.43 Each 

BR12023020A SELECTOR CLOSING BLOCK (F9019506) 1 £ 35.12 Each 

BR12023021A SELECTOR AXLE BOLT (F0062009) 1 £ 17.35 Each 

BR12023022A SELECTOR AXLE BUSHING (F0059022MS) 1 £ 8.07 Each 

BR12023023A SELECTOR SPRING (0801027) 1 £ 7.23 Each 

BR12023024A SELECTOR AXLE WASHER (F0059049) 1 £ 2.93 Each 

BR12023025A SELECTOR AXLE (F9001021MS) 1 £ 97.36 Each 

BR12023026A M5X16 CHC BOLT (0201469) 2 £ 0.29 Each 

BR12025025A COMPLETE PUSHER GUIDE (F90195051) 1 £ 55.85 Each 

BR12025024A PUSHER SPRING O-RING (0201017) 1 £ 1.06 Each 

BR12025023A PUSHER SPRING (0801026) 1 £ 6.15 Each 

BR12023027A DUAL PIN ROCK PUSHER (F0077110) 1 £ 16.91 Each 

BR12023028A DUAL PIN ROCK (F0059040MS) 1 £ 77.12 Each 

BR12023008A REVERSE GEAR UNLOCK CABLE (F9019608) 1 £ 59.57 Each 

BR12023029A 08 MALE BALL (0999014) 1 £ 27.72 Each 

BR12023016A BEARING 6004 (0101004) 1 £ 4.74 Each 

BR12023015A FORKS AXLE (F9019500) 1 £ 26.25 Each 

BR12023012A COMP GEAR SELECTOR FORK (F90010131MS) 3 £ 84.11 Each 

BR12023013A SELECTOR PIN (F0077120) 3 £ 5.76 Each 

     

 SELF LOCKING DIFFERENTIAL    

BR12022001A 12X57 FINAL DRIVE (CPL12571705011MS) 1 £ 959.79 Each 

BR12024010A BEARING 6209 (0101010) 1 £ 24.44 Each 

BR12030032B CROWN WHEEL BOLT (0305404) 8 £ 1.13 Each 

BR12024004A BELLEVILLE WASHER (F9001100MS) 2 £ 29.94 Each 

BR12024005A CORE DISC (F1903071MS) 6 £ 33.01 Each 



 

Page 3 of 3    

 

FIESTA R2 INTERNAL GEARBOX PRICING - RETAIL 
 
 

 

Part number Description 
Quantity 
per car 

Price Unit 

BR12024006A FRICTION DISC (F1401086) 6 £ 36.43 Each 

BR12024007A DIFF PLATE SET 33/90 (F15024071MS) 1 £ 281.52 Each 

BR12024008A BEVEL GEAR (F1705305MS) 2 £ 97.03 Each 

BR12024003A PLANET GEAR AXLE (F0085911MS) 2 £ 39.21 Each 

BR12024002A PLANET GEAR (F1401006MS) 4 £ 41.41 Each 

BR12024009A DIFFERENTIAL CASE (F1705301MS) 1 £ 339.42 Each 

BR12024015A 6009 BEARING (0101041) 1 £ 13.96 Each 

     

 HOUSINGS    

BR12025001A COMPLETE MAIN HOUSING R2 (F17050061) 1 £ 607.61 Each 

BR12025039A PERMAGLIDE BUSHING (1202004) 2 £ 3.43 Each 

BR12025014A 012 PIN (F1705009) 2 £ 3.77 Each 

BR12025012A 06 COPPER WASHER (0599002) 3 £ 1.44 Each 

BR12025013A DRAIN PLUG (F00590481) 1 £ 9.05 Each 

BR12025007A REVERSE GEAR AXLE (F9019516) 1 £ 36.45 Each 

BR12025008A BEARING K20x24x17 (0105061) 1 £ 9.52 Each 

BR12025009A REVERSE GEAR PINION (F9019501MS) 1 £ 66.76 Each 

BR12025010A REVERSE GEAR STOP (F9019509) 1 £ 4.34 Each 

BR12025011A 018 CIRCLIP (0601020) 1 £ 0.20 Each 

BR12025003A VENTING FITTING (F9001062) 1 £ 13.96 Each 

BR12025004A 014 COPPER WASHER (0599044) 1 £ 0.43 Each 

BR12025005A -6 M14X150 FITTING (9999428) 1 £ 6.87 Each 

BR12025006A -6 PLUG (9999150) 1 £ 4.69 Each 

BR12025002A CLUSTER HOUSING R2 (F1705005) 1 £ 654.94 Each 

BR12025015A -6 M20X150 FITTING (9999257) 1 £ 9.46 Each 

BR12025016A 020 COPPER WASHER (0599036) 1 £ 1.15 Each 

BR12025017A 040X58X10 LIP SEAL (0205015) 2 £ 8.44 Each 

BR12025018A M7X30 CHC BOLT (0301465) 9 £ 0.68 Each 

BR12025019A 020X32X7 LIP SEAL (0205093) 1 £ 7.85 Each 

BR12025020A 024X36X7 LIP SEAL (0206011) 1 £ 6.16 Each 
 
 

All prices PLUS and VAT are correct at 18 November 2015 E&OE 


